12 11 10 9 8 7 6 5 4 3 2 1

1 i \ Markierung auf Umfang
I 1] o I Marking on the circumference
i 1 . - . ! I Marquage sur la circonférence

Marcacién impresa en perimetro

H ml I=] /
Mo |
S

o ! @¢

Polgrenze

Between the two poles
Limite polaire

Limite de polo

D g /

N

AN

=

>
24,9 4«

G Positionierung der Magnete
Positioning of the magnets
Positionnement des aimants
Posicionamiento de los Imanes

] Bracket 19* 1 ___\\\\\
—_ .

26,9
(27,5)

|
| |
i | i
- } L 331
= | =
|
e T —-——4rfi-
- jﬁ | T
¢ | ®
| | !
i j Il
E |
|
Bei Verwendung der Magnete missen |
die beiden Gummipuffer entfernt werden i
Make sure to remove the two rubber | o
buffers when using the magnets | =
O
- en cas d'utilisation des aimants, assurez-vous Markierung auf Umfang 6°&ﬁ; &
d'enlever les deux tampons en caoutchouc Marking on the circumference s
M | ' fé
ﬁ????ggsfogei$§;égor los topes de goma cuando //// Mgpggg?gns$;prgsglgﬁogefgﬁgiso
’ |
——c:zﬁ}— |
- |
|
|
mggg:tg EO{greﬂZ?h ¢ | Gerdt ohne Verpackung und Beipack gezeichnet,
O |C A rants L? W?en Ie' Wo potes Diese Zeichnung enthdlt nur die wesentlichen EinbaumaBe.
Imanes L%m;tg 58 Séqg Eingetragene Toleranzen sind fur die Abnahme bestimmt.

Drawing without packing.
This drawing only includes the most essential mounting dimensions.
Indicated tolerances serve for acceptance.

Dessin du poste sans emballage.
. . . . P g
L | ef'ertnnf'ongg/' de ||\/€[‘Y// l1vraison/ volumen Ce dessin ne présente que les cotes de montage principales.
Les tolérances indiquées sont destinées a |'acception.
Pos. |Bezeichnung Anzahl Bemerkung , o ,
Name Quantity Remark EqU'PO,d'bUJGQO sin embala je. . . .
Désignation Amas Remarque Este dibujo sélo contiene las dimensiones de/montOJe esenciales,
B Denominacién Comulo Nota Tolerancias anotadas previstas para recepcidn,
O , .

= 3 Magne t Schwarz gummiert Gew|cht:
2% o 1 Aimant 7 Black rubberised Weight:
23K Imdn Caoutchouc noir Poids: r7 EJE] 150 E
B8 3 Engomado negro Peso: {Eﬂ*¢}
2 75°8
°5z5% Sechskantmutter 1SO 4034 M6 5 :
SgZs8& [ Hexaaon nut PCB-Transfer-File :
S’,%;gé 7 £ g h A Projekt-Library: BPP_PS_7620310009-19Z0!|-Premium-F!|ip-Down_Magnet
LsST8 crou hexagonal ——— =5
8=-3538 TUerCG hGXOgOﬂGI Measures without indication of tolerance acc. to Drawing |D
Egég 3 6 9 12 Replaces:
85552 Lederring JIN 12776 5t % ATB386 07 [37.00.13] E 2 g }é Replaced b
2275 i Ul J eplaced by:
":’,555’5 3 gpr(ljn%ll IOCk WOSTBF A Ind.| Mod.Nr, Date |Name |Ind.| Mod.Nr, Date | Name [Ind.| Mod.Nr, Date | Name |Ind.| Mod.Nr, Date |Name
85039 ondelle-ressaor - - Dwn. 27.05.09 Part name/Part title
zgEE |A Arandela de resorte Valid for pdeUCthﬂ S T Magnet Set for 19* 27,5mn
§;§<I§ Material: First Nte,
5EL5% Schraube M6 Regelgewinde, Kopf nicht der Norm entsprechend fir Torx DIN EN SO 10664 - Ve |Dpt. CH-PS/END) —— —
srgEs L Screw 7 M6 regular type screw thread, head does not comply with the standard for Torx DIN EN [S0 10664 7 620 270 002 BOSCH R Y
28:52 Tornillo Pas gros M6, téte non conforme pour Torx DIN EN SO 10664 7 620 270 002 EA | 1:1
2558 Vis Rosca gruesa M6, cabezal no corresponde a la norma para Torx DIN EN 1SO 10664 — No. of sheetsl] Sheet no. [l
> E8G2 eight: This includes: A1
8288 12 | 11 | 10 | 9 | 8 | 7 6 5 4




